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20 +4y+z2z=4

r+2y+2=0
3r+2y=6
4y — 62 =3

Sr —4y — Tz =2

6r + 5y —Hz=1

3r—y—4z2=-3
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2r4+y—3z=—-4

3r+5y —T72=—6

or —y+22=6

or +y + 6z = —1

Tr — b5y =—3

3r —6y+52=4

x—3y=—4
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o0r — oy +z=-95

20 +0y+z2=-1

dr — dy — bz = —6

6r —4z =1
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r4+y—4z="7
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Al A8 A.15
1w _ 8 _ 2 5 _1 3 26 25
21 21 21 7 T 7 51 51
_8 5 _ 4 1 13 3 25 26
21 21 21 7 14 14 51 51
_2 _4 20 3 3 5 _5 5
21 21 21 7 14 14 51 51
A2 A9 A.16
5 _1 _1 7 15 21 13 _1
6 3 6 33 83 83 15 3
_1 1 _1 _ 15 58 35 _1 1
3 3 3 33 83 83 3 6
1 1 5 21 35 34 1 _1
6 3 6 33 83 83 15 6
A3 A.10 A7
4 6 11 25 10 10
13 13 6 6 33 33 33
_6 9 1 29 10 41 25
13 13 6 30 33 66 66
0 0 11 10 _ 25 41
3 15 33 66 66
A4 A1l A.18
37 5 15 4 6
L0 0 62 62 31 13 0 13
9 6 _5 61 _ 3
0 13 13 62 62 31 01 0
0 & 4 _1 _ 3 13 5 0 2
13 13 31 31 31 13 13
A5 A12 A.19
13 2 i 2 35 53 3
18 9 18 74 74 62 31
2 37T _ 14 35 49 3 29
9 45 15 74 74 31 31
7 14 41 21 7
18 15 90 0 01 62 31
A6 A13 A .20
2 _ 15 15 61 9 _ 3 65 14
43 43 43 70 35 14 114 57
_ 15 61 25 9 17 3 14 49
43 86 86 35 35 7 57 57
15 25 61 _3 3 9 _ 49 14
43 86 86 4 7 14 114 57
AT A14 A21
17 3 6 9 3 r _1 2
26 26 13 10 10 18 18 9
3 25 2 3 L9 _ 1 17 2
26 26 13 10 10 18 18 9
6 _2 5 2 2 1
13 13 13 0 01 9 9 9



